Aboriginal Canadians are made up of all of the following groups of people EXCEPT

a. O First Nations
b O Inuit

c. O Olmec

d O Métis

When a country, such as Mexico, has an unfavorable balance of trade, this means
O it imports more than it exports

a
b. O it exports more than it imports

c O it imports only agricultural goods
d

O it exports only services

What desert, located in Chile, is known as the driest desert in the World?
O Sahara Desert

O Atacama Desert

) Mojave Desert

O Gobi Desert

a0 o w

What physical trade barrier does the country of Bolivia have?
O It has high tariffs

O It has low quotas

O It is a landlocked country
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5. Canada's form of government is a constitutional monarchy. What is a constitutional monarchy?

a. ) A monarch acts as head of state within the parameters of a constitution.

b () A president is elected by the people and represents the executive branch of government.

C. © A monarch serves as the sole source of political power in the state and is not legally bound by any constitution.
d () There is no governing person or group of people, but each individual has absolute liberty.
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Which number on the map indicates where Hudson Bay is located?

a. 01
b. 02
c. 03
d 04

What is the capital city of France?

a. ) Nice
b. O Lyon
c. O Paris
d. O Strasbourg

When a company in Australia invests in a training seminar, this is an example of an investment in
() capital goods

a

b.  © human capital

C () natural resources
d

() a partnership



